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Rramsht 61 9oy % e, AUST T § YA itk FadTe STeivl < Ush qiER & 99 of,
e fIremstt o STufeesTiEt ot U (31 99@ 9=1) o &9 4 Tar < off, i 91 I8 qUel
HTHTST <hl TAYTHT &9 =1 7

T ()

After Shivaji’s death, effective power in the Maratha state was wielded by a family of
Chitpavan Brahmanas who served Shivaji’s successors as Peshwa (or principal minister),
which city became the capital of the Maratha kingdom ?

Poona (Pune)

e STt bl “f7 o 4 | S S o, <R o v g
e

Mahavir Swami became known as “Jina”, what does “Jina” mean ?
The Conqueror

ST R 31emieR o RreToral # Seor@ foR R 7, 1Y |y § TS aiefelgd 3R 3 IR
TICH <hal Sl HTel S TSIk ohg & | FHeAfeTiad o | i &1 STt shg a1 o ?
EE D)

As mentioned in Asokan inscriptions, there were five major political centres in the Mauryan
empire including the capital Pataliputra and other four provincial centres. Which among the
following was not the provincial centre ?

Indraprastha

e 1 fergafis Armes Uk =N 37 for @1 Afeai & e derg 27
Y 3R Fadt

Rigveda contains dialogue between a sage named Vishvamitra and which two rivers ?
Beas and Sutlej

1722 4, &1 gETH HaTE UM SR 1 € TS ot |
AT

In 1722, the subadari of  was given to Sawai Raja Jai Singh.
Agra
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6. Trefetiaa # & fopem aran weanfiel <5t =g Hegw i % forw Ifta fepam o fo diferem wa
forfew ffifa oft afit «fsrfest Tomatt w om o2 T oft S 5 ffew =mea 9 f6 5@ mwam
feman St 17 2

Ty ATl

Who among the following had exhorted his colleagues to realise that the Constituent
Assembly was British-made and was “working on the British plans as the British liked it
to be worked out” ?

Somnath Lahiri

7. ToOEH <@ 3R AidieTet 98 3 Uiue ToHITG § ITaEt T 988 i o i g o Hidat
frafaftaa 9 9 forg Torifeaes oot 1 e fepam o 7
S it

Chittaranjan Das & Motilal Nehru had formed which of the following political parties
within the Congress to argue for a return to council politics ?

Swaraj Party

8.  HIM 1 g HTUSIH hal gt o1 e wgrenn reht 7 317 Ja13ti b1 Raairha o qy-e
TS o THIA B STHEINT S I i hl STTE9Ihl b SR H STTYe foham o1 ?
heAehdl

Where was the session of the Congress had taken place in which Mahatma Gandhi
convinced other leaders about the need to start a non-cooperation movement in support
of Khilafat as well as swaraj ?

Calcutta

9. Trafefaa 4 8w “gerE Ragamm 1 geeme o1 3R {58 S1eeng @H = 19 & oft S
ST & 7
TH Heg THHR TH

Who among the following was the founder of the “Khudai Khidmatgars” and is also
known as Badshah Khan ?

Khan Abdul Ghaffar Khan

10. 1913 H fégeam et urél =1 g ¥ ferd e
LER IS
The Hindustan Gadar Party’s headquarter was located at in 1913.
San Francisco

11. Fes (o) sofet/foreft wa & faforfaa & @ form s & o8 S areft wehmm werefia
FHfe /forefi & 7
frge

Shirui (Siroy) Lilly is the only terrestrial Lilly found in which of the following states of
India ?
Manipur
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12. “Ifeamnugr” wRa & Ffafga e frm s afa g 7
ST
“Oriya Plateau” is situated in which of the following states of India ?
Rajasthan
13.  3fiq =g i e | AUTHIG o T &1 § THT ShT RIT HRVT B ?
IT-YeT iRy (W)
What causes rainfall on the coastal areas of Tamil Nadu in the beginning of winters ?
North-Eastern Monsoon
14. TSTEAM & AR 1ot 1 ford TehR 61 TATSS IR STl 3 2
Tt Tk (T[eATeft) DTS
Which type of granite is found in Jalore district of Rajasthan ?
Rosy Pink Granite
15.  gamfer gra ffia sieet = wra = feforfaa o 9 fora U /hganfad yew 8 fra & 2
afeem S
Bandel Church constructed by Portuguese is located in which of the following
states/UTs of India ?
West Bengal
16. T % 3 T ATWBRI G (FRP) i b Tl <t 8 7
ek WAL shi hiere wMfd
Who approves the Fair and Remunerative Price (FRP) of sugarcane ?
Cabinet Committee on Economic Affairs
17. THIRed 9 ¥ SF 91 T WRAT 97 T 3T A1 eIl 3T 7, TSTEeh! 3639 “Hh1H
H BT B (TS 2 F) T TRA 177
TrgTedT TiTeft T Tmefior Ao IR SAferfaem
Which of the following is an Indian Labour Law and Social Security measure aimed at
guaranteeing the “Right to work™ ?
Mahatma Gandhi National Rural Employment Guarantee Act
18. Tl shifa” wRa H Ffefad 9 @ fora iy & § foera o fore fower 2 7
SRTEHL
“Golden Revolution” is responsible for the development in which of following
agriculture sector in India ?
Horticulture
19. s fafemes ue faemm st 1 g el fm 27
LU

Where is the head office of Insurance Regulatory & Development Authority located ?
Hyderabad
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20. FrffEd 1 € S a1 feuifored aeerm™ %1 T TR Tl § ?
T1eTE (NABARD)
Which of the following is not a type of Depository Institution ?
NABARD
21. YRR Toasdn A=, 1947 o qTid 89 o G910 WRd Th ATRTST o9 T 37 31ferr=a
Taummee 7 wia TR srfafEm, 1935 6 fhm 9 & Yraei o d9gd 1947 ¥ 1949 d
ST ST ?
T 100
With the passing of the Indian Independence Act 1947 India became a Dominion and
the Dominion Legislature made laws from 1947 to 1949 under the provisions of which
section of the Government of India Act 1935 ?
Section 100
22. Ueh SHAfth Sl HEC 1 Hew T2l 8, 38 Fad g iftrehan fehe weiHl o forw w=f & wq A
f<h TohelT ST Hehdl & 7
6 WEN
A person who is not a member of Parliament can be appointed as a Minister by the
President for a maximum period of how many months ?
6 months
23. 39 I AT I AH AT, RTERT &ATIIHR SHH 7R FHehlaR g9 T8 o hgemtad
I R |
hefehTl = AT
Name the high court that has jurisdiction over the Union Territory of the Andaman and
Nicobar Islands.
The Calcutta High Court
24. TS TS SIS oh A o {10 WA <l T9¢ gRT 7391 3R 7491 Gagi-en TRNeH He
TR e T ?
fegsw, 1992
When 73 and 74™ Constitutional amendments were passed by the Parliament of India
for the existence of Panchayati Raj Institutions ?
December, 1992
25. 99 1928 H HidieTd He& atufd grr Freferiaa o & s | sifufrem / faeees searfaa fome
T AT Y
feeRT o1 fo e
Which among the following acts/bills were proposed by the Motilal Nehru Committee
in the year 1928 ?
Bill of rights
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26.

WA % ey H Fefifgad g s @ g g ?
T @I A E |

Which one of the following is correct regarding larynx ?
It houses the vocal cords.

27.

firosh 371 HFTSET fore TohR h ShicTIEE & ?
o

Milk of Magnesia is which type of colloid ?
Sol

28.

frferfaa & & & a1 Srefe 2 Tra IR § Ty i S| g @ 7

EOEIH
Which of the following organic compound coagulates the protoplasm in the human
body ?

Methanal

29.

frferfiad 3 @ % |1 31die SR ved H f4d e aM1 I8 & 7
LG

Which of'the following is the only Dwarf planet located in the inner Solar System ?
Ceres

30.

T (eet) 61 ufat % gym arer srelt J Frefeied ® @ o a1 31t Hisg At g ?
TAIgh A

Which of the following acids is present in the stinging hair of nettle leaves ?
Methanoic Acid

31.

FAS -1 I S T T TN o HRUT IS ol S o 11 48 R H 324 T =113 ¥ |
IEATA 10 3R H 3Ed WhITAT & 6 AT, T 3Tl 10 3T H I §eht 8.5 &l T |
3 91G 30T 10 3T H I8 FRERL 5.5 W 311 71 3R 3001 10 e H R sigeht 7 W
T | 7 B e 35 e R st B e 2

In the England-New Zealand one day match, due to rain, England needed 324 runs in 48
overs to win. In initial 10 overs, the average scoring rate was 6, but in next 10 overs it

increased to 8.5. It then declined to 5.5 in next 10 overs and again rose to 7 in next 10 overs.
To win the match now what average is needed ?

6.75

32.

FafRaa d g A A SRR FHH S 7

Which of the following is in descending order ?
9/13; 11/17; 5/8
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33.

0.081 0484 25 iy

0.0064  6.25 21.1
0.081 0484 25.
X — X 1S:

Square root of
0.0064  6.25 1.1

0.45

34.

@1-9 @l -9lylsmamzg:
The value of (81 =91y 1+ (@41 -9 1y 1is:
10

35s.

feea 3199 ATfires SaH BT 24% WIS 9T 3R 15% 379 s=i <hi 318 @< il 2 | 99
I T Y T8 25% HAIEHT T 3T 20% THeg W T Hidl g | 379 35 9@ 2 10,736 s 3
| Teean vt wifres 9 fopa 8 7

Divya spends 24% of her monthly salary on food and 15% on the education of her
children. Of the remaining salary, she spends 25% on entertainment and 20% on
conveyance. She is now left with % 10,736. What is the monthly salary of Divya ?

3 32,000

36.

frefetiaa § o fopd faehed o foeim-gm we 78 8
m€' ¥ |a - 3‘”@"

37.

‘SER foa™ < gid forepd a1’ denifad o1 s g g =g ?
AER Al B TR A T & RE o R |

38.

frforfaa # @ fopar foepe o wvft wisg gfeem 2 2
wieHH, TR, i

39.

o

ffeiiaa 8§ @ fopdt fasheq A g I & 7
THT = 319 ATE | T U bl gl |

40.

et o TG Tohdl HET TR ?
e SHgd

41.

Choose the antonym of underlined word from the given options :
He is very fastidious about his choice of food.

Careless

42.

Put the correct form of the verb :
I am the person who to be blamed.
is
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43.  Which of the following spellings is incorrect ?
Aniversary

Read the following paragraph and answer the following questions : (Q. 44 and 45)

India is marked by a diversity of physical features such as mountains, plateaus, plains,
coasts and islands. Standing as sentinels in the north are the lofty snow-capped Himalayas.
Him+alaya mean ‘the abode of snow’. The Himalayan mountains are divided into three main
parallel ranges. The northernmost is the Great Himalaya or Himadri. The world’s highest peaks
are located in this range. Middle Himalaya or Himachal lies to the south of Himadri. Many
popular hill stations are situated here. The Shiwalik is the southernmost range. The northern
Indian plains lie to the south of the Himalayas. They are generally level and flat. These are
formed by the alluvial deposits laid down by the rivers — The Indus, The Ganga, The
Brahmaputra and their tributaries. These river plains provide fertile land for cultivation. That is
the reason for high concentration of population in these plains.

44. World’s highest peaks are located in the
Himadri range

45. Northern Indian plains are rich in
Alluvial deposits

46. T FfTad Fe W H, ‘@ + HI U 7, ‘@’ I M 7, ‘o’ ‘+ I T & 3N
ce’ GX’ ﬁa—sﬁa—r% l
In a certain code language, ‘@’ represents ‘+’, ‘@’ represents ‘—’, ‘o’ represents ‘+’
and ‘0’ represents x’.

FafaRed s s ES

Find out the answer to the following question :
89000 100D 504D 121 a 11 =7
58

47. GEA! % GU T A H § TToTd T AT I :
Find out the wrong number in the given sequence of numbers :
582, 605, 588, 611, 634, 617, 600
634

48. 17, 1998 ! H=ITE I S &1 T o ?

9YaR
What was the day of the week on 17% June, 1998 ?
Wednesday

49. IRA+BHITZTF A, BF AR, A-BHITEFHEABHFIEY;, A%BH
31d 2T A, B 1 a1 8 3 A x B 1 374 8 T A, B il 58 8, Fafeifaa g a s &
g fh P, QT B 7
If A + B means A is the mother of B; A — B means A is the brother of B; A%

B means A is the father of B and A x B means A is the sister of B, which of the
following shows that P is the maternal uncle of Q ?

P-M+NxQ
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50. i< feuw o we 1 G ke N IHb WIe 1 I 11 ShHifehd < ey feu e & | 3Rt fey
T 1 HHT bl e AT 8, Wel B o FTHI: ST q2ai & fir=t wefia 2ia & | Fsshst ol
U¢ 3R Rt @ i fop feu o fshul § & &9 91/8 9191 a2t ol TSH3TENS hid 8¢
few 7w &1 el o1 qTfoheh ®9 U IITEY AT B/ |
FYT : T SSTGH S | FO AT SS TR ¢ |

e
. aftaghaE g |
1. %S T &g 8 @ |
e T 1 3T EN 1T STTEOT T R |

In the question below two statements followed by two conclusions numbered I and 11
are given. You have to take the given two statements to be true even if they seem to be

at variance from commonly known facts. Read the conclusions and then decide which
of the given conclusions logically follows from the two given statements, disregarding

commonly known facts.

Statements : All poles are guns. Some boats are not poles.
Conclusions :

I.  All guns are boats.

II. Some boats are not guns.

If neither I nor II follows.

51. 2T & H, YA Meht IR M1 3 oig & eiargs H At fotawget mew Fotd § 93w
ST T T A S i AR o e 3 | 5 PR S e A
T foRaT T o 2
Recently, Shubhankar Sharma, Indian golfer has recorded the best result at the Open after

finishing in tied-eighth position at the Royal Liverpool Golf Club in Merseyside, England. In
which year he was conferred the Arjuna Award ?

2018

52, YR WK g HaTfad efeiigd § & i @1 i <ufen gifeH weag e ga
(ATFSG) T It B a1 T8l He o TR & 2
T B3-E HITRRH fAfies
Which among the following Government of India undertaken Corporation has become
the first member to join “Asia Transition Finance Study Group” (ATFSG) ?

Power Finance Corporation Limited
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53.

TEUT H WE3TI-20 o FHYE THRIE & RH, WRA 3 3nferesTies dri w oy 2024 % forg
frafafga @ @ forg <o o Temer did 2
SIS

During the closing ceremony of Startup-20 at Gurugram, India officially handed over
the torch to which among the following countries for the year 2024 ?
Brazil

54.

R < & Ry (H9erE) ELaTE. d59e g S 91 uidd dted foha T g S
ISR, ST, TFTHEhT i T o Faied =TT H Ja91 o T RIS HIg-IETia
$-UTH ST ITUY L Y SFufd <1 8 2

EICIUGEY
Which portal is launched by Chief Justice of India (CJI) D.Y. Chandrachud that allows
advocates, litigants, citizens to request QR code-based e-passes to enter in the Supreme
Court of India ?

SuSwagatam

5sS.

BT 1 1, hel Heoh TRaed 3R TommT Jft off fifas meshll 3 wra 7 3.5 7 ook o amedi o foe
STE GReTT Wehi hl SETeht TSh GUaTl SgH o Ie¥d § WRA TAETT (NCAP) i-a foham |
NCAP &1 90 &9 & |

= R JFETHS T
Recently, Union Minister of Road Transport and Highways Shri Nitin Gadkari
launched the Bharat NCAP aiming to enhance road safety by elevating vehicle safety
standards for up to 3.5-tonne vehicles in India. Give full form of NCAP.

New Car Assessment Programme

56.

T ek H feferfiad § 9 forg & I = skt 100 foform eier oo seM & foru wra-
STRERT ek BIg <hl LTI R TS 2 2

ERECURRE

Indo-US task force has been set up to elevate trade in which of the following sector to
$100 billion in next decade ?
Electronics

57.

forva 1 e 7 e o1 her SU=R ekl fohdt o9 § 31& fohan ST 2
HS

World’s first 7-minute cancer treatment “jab” to be rolled out in which country ?
England

58.

HEY Y H AN “HEITA ATSH! ST AT W AIEAT3Ti o foTq 31y S R g 2
TG o herst ¥ # 01 FaI bt 23 99 T 3 foTT B 31K 60 9 & A & |

What is the age limit for females in “Mukhyamantri Ladli Behna Yojana” implemented
in Madhya Pradesh ?
Must have completed 23 years as on 01 January in the calendar year of
application and less than 60 years.
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59, YaTOR HIHTd {ofd 7 < o & REeHT” % fofe PMI feror fSren geenr Sfiar | 318 aieiem
FreferRaa o & fopg STFeR o Sfier i saF o fofw “gigamm feeamm forem 2 2
Teft
Northeast Frontier Railway, bags PMI South Asia Award for “Micro Project of the
Year”. This Project is “Instruction Detection System” to save life of which of the
following animals ?
Elephant
60. TS € H YA a1 A1 (IAF) 1 ufeaet a1y s6am g 3% foh e anffes et snama
1 9 ST |
e
Name the annual training exercise embarked by Western Air Command of Indian Air
Force (IAF) recently.
Trishul
61. “TFH IASE STHARUE” R o HETARad o & fore T /shgmida Jew & fera 2 2
Trferem
“Maenam Wildlife Sanctuary” is situated in which of the following State/UTs of India ?
Sikkim
62. THTHT TSY o dTerue g H ey “wwom wfeqt”, 78 ad 2021 # e fava atiet wa
Hifyq femam T o, 3geRt fFmtor fefefaa 3@ 9 ford T & SrEeeRTe o6 S TR T
a1 ?
EaCTiC
“Ramappa Temple” located in Palampet village of Telangana state that was declared as
UNESCO World Heritage Site in the year 2021, had been built during the rule of which of
the following dynasties ?
Kakatiyan
63. R 9 o JUHEET 3R 3= 2R i fgie YRa % diade % o d&d Ugdfd
G <61 STl 2 |
IR 75
The Prime Minister and the other Ministers of the Indian Union are appointed by the
President under of the Constitution of India.
Article 75
64. “FY WA % MR H & fopg T /haamied 6w # fHywaem 7 § TSR T
TTATISTR - HTfH el § ?
A
“Koothu” is a socio-religious art performed in Koothambalam temple in which of the
following State/UTs of India ?
Kerala
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65. “hgl T ST T o1 Geaer Feferiad o & fore wom v fea 2 2
A, Hich
The headquarters of “Central Institute of Indian Languages” is situated at which of the
following places ?
Mysuru, Karnataka
66. “THET(h BRI T 8 G137 (OPCW) H foha? e UP 8 2
How many member states are there in the “Organisation for the Prohibition of
Chemical Weapons” (OPCW) ?
193
67. TrAfIRad 5 | I AT i SRR W2 2
fead
Which of the following is an official language of the Maldives ?
Divehi
68. “gorr frmferfea o @ fpa cor A Ui ggr 2 2
L IGEIS
The “Pula” is the national currency of which of the following countries ?
Botswana
69. “TeTers” Wi afeR g1 feiRaa wereRTe Fid 7 | 98 Wi @ Ffefea # @ fohw wifecr @
Hefod @ 2
et wrfee
“Perungadai” is a work of epic proportion by Kongu Velir. It belongs to which of the
following literature of India ?
Tamil Literature
70. YA TR g a9 1967 § Freferlad § @ forg it TR w1 919 Sgeisht <o =ik

RIRIE IR
s sk 9 -111

Which of the following gallantry awards was renamed as “Shaurya Chakra” in the year
1967 by Government of India ?

Ashoka Chakra Class-111
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FrforRaa wrerisr w6t ygeht I8 T SR % ST R : (3. €. 71 - 75)
g H forsmar stwor 6 S 2 | mETs J TS fawmar gnfl, arrraen swer At g 3fies g |
<Ifeh TR < H AT, 3T, Jeaforeh o Hiehiae TEEHaIT 3feh & fEsh! oo o T =ik T
T T R qT &1 QoL T WL RS BIel 8 | ST ST IUHIHT S0 3h1 &1 e T8l I I8 31 8
T JuvIhT foRd ad € 2 3T NIRRT <hi THATST AT 2 2 A=A : 36 Sk A1 ATk T ! ST Hal
ST B S S AR W feReal off Seqatt STuat dansti s 3w R § | 39 Wb Tt safth feret-T-foneht
Y H I9HT &I & 3T 397 <61 f31ehr 81 & |
AR < H W8 orfifera, wmfres e sl w9 & god stk A ot o B St wet Y fer sfeq |,
FEUTY T, TSh qAT {eTd SATE b TR, TT¢ ATel oh FehR AUt STetet S7an foreft off 3= o & 31o
-1 @ 2 | g1 S T S ST QR hl HHTSIHAT Sy Aemie § d9fd g,
o8 egfren Tthediel, saTaTie, FeRtael Ud qeTehfod s ot 3 firernt afe forar @ | wg aem 8
ST 3761 1 ST 7 | TR Ferat off FISHTE ST SR AR R, IS ST TNEa §9E TRl & |
SYIRRT ST ShT ATcHd Sheed ScATeehdl o SATYTIET gRT fohT TTU Siwor & &) foram wirar 8 Stafeh 3o &= o
e we FaTd 21 & |t §, fe s iae, e, st it gfem, 39 sied
I3 TTHR FHHAN, Tehier 3T Tt 317d & | 37 T 3901 & &7 | 91 <hifdH s1e & 9 areqa § i
T 3% doe Neplgd H ol - ARH & | BT o &1 feha ot &l &, 37 avft a6 & ug= dohd
FIfh 187 & HeTeh o4 ST A1 i< a1 ? YEER @l I TSI H g g3 8 - WA =R A = 4
T | F1 H 3T A b 3 fert 3 2
TE SR Toreft @ ST Sood— 3% S=ITaT HEA™ o @ 11 A al fopell a1l o die o § 7 31 7 Sare1
TeT-forar gu=1 | 9 TR 3Eeh It~ ol gagrd] g 30T T g 374 TSl ardl | foep! aeehi) deH
T firerdt, W gg-gg AR A i fefa 3 oft mue R | 9 a1 3 Senr-fadia gam e e
TEH ! TR g 3TN T TR 3 [0 53 °9ra 1 W 7 | 91 39 fowwar =i gem 6 feon § =8 e
IS I TET & 2 T T Fere ATl ol 3Ugh TSI fou S <ht femm & w5 21 Ta1 & 2 1 81T 36 &
I, WA & AT R |
71.  EAR TN H TSIV SeAgEl A1 O i @ HE A ?

3T 313 AT <6l &t

72. @ % FFHR T HT FRIBR HIF 17T &4 8 2
&G TS Q13T T ITINT B ATl ITHIGT T

73.  GHTS o GIH 91 <hl i € G S ?
Sfre-Tra= 9 3rfies e | griores gfest w wqu

74,  THSTIAN SHEE! A1 & Sfed o o Imeor 3 fore S Iaert § 2
TSHAT, SR} 71, TR F Td AAThIAd Flgaitd! @i

75. ek’ TN AR’ IS Fohdl TR $ohTS § FHITeId & 3R fohel el & fiete & 8 2
Ferdror 3 fersroor wrog -3 T

MN2_4923 12



fr=ferRaa e @t vewt I T e % I AR (7. 9. 76-80)

RA YT SEH{d I <X & | F8T §F 07 1 S -Hfth 1 ST 37 HE T o7 | 576 §F o
I i ey A foran mn @ Ffed TR R gF o Aot ot 8 | g wAn | fiemafa 6 e
THTS o GHTCHT, AT o HsT AT b1 & | YR §9T H g o1 o S ¢1-gHl 91 o ST T £ |
TE g & W Y9 g o aTel i It @ STt ot 31 2 ur B g fean s o | st 3 ee 6
HigwT o1 FeT-agreRt vl feram foraes wror framafa it off enfifes ar=rn fire 78 | eft-oit ga-gransti 3
I O S &1 s o fean 3t earae flig, srdifest 31 s <l e fean St o |
I -9 TS H 3R Yol H Seerrd 3T 3R STfirehat @i e, e 3R franfi i g w6 urm
TS o | THS § S 38 YhR o uRad gu al efit-efiRk S 3 fyear bt sroeft Shiferet € w91 forem |
T % HROT SEER @R WRE 7T @ | % A e 9 ot fraaha @ e fren st gen-we, @i,
{ofd TR, 98 WS, Tel-Heeet 3G T W& sire o fewrs of 3% 81 7 | 36 % | & 3y
% e A €H 1T | ATEA-<) |1 o6 G Ha 5o ¥ TToht ITeHT-esl Y % 9 b ol M@ HITd
@ AT HhaT g | 3Tl g i 1 oft Ush oAUl SIS ST 571 @ 2 |

F8 @HeH! NrEil g1d § wifh gal & 3 Yoo HEAHI T 3191 3781 ST §U 8 | $© Soedt
Sl ol 331 <1 SNl & AT I Wi HTETd & | o 30 FeA BId & b viig HiTT o o1 sr=all o1 37— 971 ot 3
A8 | o Tt Saisia W s & S ow 3 oid -2t faufe 311 S 0 3 w1 e ookt Wl o fore ket
A E | 3R T 31 Avft <6 3 off v g 8 | 3o e ifRft s @ po s fersma € |
F Tt ff 30 E™ § 3 MU E | SRS fr 319 T ffvad wed § | 3 e st s
et STTE gE RaT ot foRe W B | SRR SR TR % SR $58 Juigg Aseey e e # |
el o SR SEEN ART 1@ HH 7 & | %1 7 forern ot freaha &1 570 a1 2 | $ ST SR 39
I S T E | e e, TR, 3T femmmeRt A gt ft Wi S § | i w1 o AT s st
BfR QA K AT H HEON S | ST, HEIAT, ST, JETAEAT ST @R GreT HevTd B i@ o
iR e |

w11 forangfe o 6t weh gwen 7€ 7 7 e 3R freel w1 Sree w8 Te-fore 3 gg-hg ot 3@
gftT ol T BT R | F1 FLHR hl 3 oo § 5 hid Y ekl T B 7 w1 89 ol o Prwft
H FEMEAN FE@ R e ? AST A, FeH i 38 g B T dl W R E | SR A A HN g Al
Tl 1 GEdeh, Tg-wEf € | et 3 SRt i gard i sredrer i gaund feemd | 57 <A
g % T TR USTIR h1 el Y | TG 1 o1 L | W@ Wi a1l sl @1 Rgerrd o i 3
e U T G | IR AT 3T TLHR ST THeTeht M L 3T g T FTet ol Jford o garel il I&
S, dl 3H T RIS I ST Fehall B |
76. o TeaTa i ow ot U THRT 7 7 3TToeh! 39 fawa § e fomm g ¢

Treamafa g 6t U Secia SHEN o1 15 3 Fifh AN 36! AMeEIeRt ST SHIEE S 1§
g1

77. e wanfee SR aId g ?
ST, FEYAT, ITIHIAT, JGTTET TG @R AT @ ¢ o T T T A § |

78.  ff@ 7 R ¥ft gl T Weg R % foTe i faeher wE A @ 2
A9 T Topeft vl =1 Tsm- 49 6 ferg e ek weg T |
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79. TH-9UE R Se-gf d HH T wHE E 7
8 3T TTeS

80. WrerH firari H B 8 7
et ofr@ wim <6t T geat B 3t difedi & Ffdea ] |

7. 81-85 : fear wan & U e gefievE = emar fi9 9t 2020, 2021 31 2022 % AU B8
T - ST I hIeTehldl, T, THaTE, T, IETEE 3R T § B8 WR ¥ Jd &I foshl (59 H)
fe@mar g |

Q. 81-85 : The given Line graph Data Interpretation Chart shows the sales of shoes (in thousands) from six
stores in six different cities Kolkata, Patna, Dhanbad, Ranchi, Asansol and Gaya during three consecutive
years 2020, 2021 and 2022 :

350

300 t“‘ Q}Eg.___.._--\\ 370

250

200

< -
150 A
100 b 2 /120\ \190/ - N
150 “Nes0
50

0= . -

FEAFAM N 9w Oe e T

Kolkata Patna Dhanbad Ranchi Asansol Gaya
—e-2020 --2021 --2022

81. i Nt % foTu e TR it For forshl w1 i Tt o foTw Sremeier TR i et fersht & srguTa =&
87

What is the ratio of the total sales of Patna store for three years to the total sales of Asansol
store for three years ?

190/325

82. TR TR 3R YT RR T freient o= awt § St i feshl i o1 wea, i aui § geerg RR 3R
Tt TR W firetreht et fersht o1 et fepe wiferora 2 2
Total number of shoes sales on Gaya store and Patna store together for three years is

approximately what percent of the total sales of Dhanbad store and Ranchi store together for
three years ?

80.51%

83. 2021 T ShIcTehrdl TR, TeAT TR 3R g7aTg TR W I i 3haa fasht 1 feran wfaera, 2022 &
Tl TR, STEEE TR SR T TR W S 6t 37ed fashi 2 7

What percent of the average sales of shoes on Kolkata store, Patna store and Dhanbad store in 2021
is the average sales of shoes on Ranchi store, Asansol store and Gaya store in 2022 ?

77.5 %

84. v 2020 % foTw aft R < i Hr NEa fasht @1 a¥ 2021 * forw @t wR % @i stEd
fershl & ST RN R 2

What is the ratio of average sales of shoes of all the stores for the year 2020 to average sales of shoes
of all the stores for the year 2021 ?

24/43
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85. i IuT | ShIcTohTdl TN, TeT TR 37T Tl TR 3 [l 1 fershl <l ot T fohat & 2

What is the total number of shoes sales of Kolkata store, Patna store and Ranchi store together
for three years ?

1650

Y. 86-90 : Th oo | U $eI U1SY (A, B, C, D, 3R E) 3 Ui 373¢eie U89 (P, Q, R, S 3 T) I8
BUE | IR UTE-TTE Ucdeh 30IC UTSW GRT R 71T 3oh 3 U bl gl & 5 |eft goie UIsy U |y
el S & 3R gE I3-<TE Teish T13eeie 91sd g @it foh T 3 o W ohi GIidT & e |t
FTITAT UT3Y Teh A1 Wit 14 2 |

& <l A &mar = 1000 X
aff gcie 93T Ueh H1 Wiet T & W 1 o g9 = 2 fime
aeff 3TTIeTAE UTSY Teh 91 WA W 3oh ol Wieh! o § o 993 = 1.6 fime

Q. 86-90 : There are five inlet pipes (A, B, C, D and E) and five outlet pipes (P, Q, R, S and T)
connected to a tank. The first pie-chart represents the percentage of the tank filled by each inlet pipe
when all the inlet pipes are opened together and the second pie-chart represents the percentage of the
tank emptied by each outlet pipe when all the outlet pipes are opened together.

Total capacity of the tank = 1000 litres
Time taken to fill the tank when all the inlet pipes are opened together = 2 minutes
Time taken to empty the tank when all the outlet pipes are opened together = 1.6 minutes

W T ¥ W ufivE @t feh T & ot e
Percentage of Tank Filled Percentage of Tank Emptied

86. f¢UTsT A, B, D, R 31 S ol Teh A1 @ieA &1 ST a1 o <l WA H T ST STHTG THT 371
HIfT |
6.67 e

Find the approximate time taken to fill the tank if pipes A, B, D, R and S are opened together.
6.67 minutes

87. % i Wi T 3Tohel T3 C FT oI T T iR Tkt WY D g T T W % A 6 3
@reft S o 31%het U1gY R R forw ¢ wm 3R 3rehet Ty T g fotw T w3 A & 3rua
3 HIT |
Find the ratio of the sum of the time taken by pipe C alone and time taken by pipe D alone to

fill the tank to the sum of the time taken by pipe R alone and time taken by T alone to empty
the tank.

7:9
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88. UIEY B 3 C g Tsh 1Y o ol WA § fofam 7191 &9 urgy A, D 31 E g0 Tsh 91 WA ol
G Y T foh T stles @ 7

1.67 fome

The time taken by pipes B and C together to fill the tank is approximately how many minutes
more than the time taken by pipes A, D and E together ?

1.67 minutes

89. ST P 3R R gRI Tsh H1Y deh Wict! i § foTt T T0% =1 Urs¥ Q, S 37 T gRI Ush A1 Ioh @it
A | ToTT 7T T @ AT 1 B 7
What will be the ratio of the time taken by pipes P and R together to empty the tank to the time
taken by pipes Q, S and T together to empty the tank ?
11:14

90. fg Tt FcTe UTST SR TS UTST U |1 Wi feu S a g ¢ Wreft & H o arelt THd
ST I |
8 firte

If all the inlet pipes and the outlet pipes are opened together then find the time taken to empty
the full tank.

8 minutes

. 91-95 : TTICTehT |TE T AT 1T i 3R = feu T I & IWE :

arfeteht 1,2020 § 5 < o = a1 o Icared, Frata 3t 3mard sl ewidi 8, Stafer arferest 2, 2020 @
2022 T e qA o IcaTG, a3 STraTd o Sfera dfg i St & | IRl 1 ST & 3R]
T o IR E |

¢ : @I = 3T + 31 — faa

Q 91-95 : Study the table charts carefully and answer the questions given below :

Table 1 shows the Production, Export and Import of crude oil of 5 countries in 2020 while Table 2
shows the percentage increase in Production, Export and Import of crude oil from 2020 to 2022. Study the
tables and answer the questions :

Note : Consumption = Production + Import — Export

qrfetsht/Table 1 :

W/ Country | Scex/ | fata /| 3mama /
Production| Export| Import
T / 2100 600 400
Afghanistan
TS / 1400 | 400 | 300
Bangladesh
Y /Bhutan 2000 800 400
WRd /India 2200 600 500
ATetald /Maldives| 700 500 | 1300
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qTfetehl / Table 2 :

29/ Country | Sare/ | Tt /| smma/

Production| Export| Import

STHITIET / 20% 15% 18%
Afghanistan

wTATeT / 25% 24% | 22%
Bangladesh

Y¢H / Bhutan 25% 25% 20%

Y / India 22% 20% 15%
IS HAEN 24% 25% 22%

Maldives

91. 2020 H Yk U< <IN H =l dcd hl 3NEd @Id F=I1 8 ?

What is the average consumption of crude oil in each of the five countries in 2020 ?
1680

92.

2022 T Y Ufe <2l § el ot shi 371Ed @ud 18 ?

What is the average consumption of crude oil in each of the five countries in 2022 ?

2054

93.

2020 H Ut <1 3T b E1 Frafa—3rmma 3ruTa w8 7

What is the export to import ratio of the 5 countries together in 2020 ?
1

94.

2020 ¥ 2022 T e del bl @ad § ke Jig Fefafaa § @ fora <o 0 a9 s1fess 3§ 2
EILSi
The percentage increase in the crude oil consumption from 2020 to 2022, is highest for

which among the following countries ?

Bangladesh

9s.

2022 ¥, f=faiRad <ot § & fohd <91 1 STRITA-TUd 3TUTd Ja 3714 o7 ?
A

In 2022, which country’s import to consumption ratio was highest among the following

countries ?

Maldives
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. 96-100 : Fr=feiga afetest =I1E b SMYEeh 37 i 3R = U 7wt & IS -

FHER o TTE 5000 TH1eX YE G4 2 | 98 HoT g4 I 40% BF el sHferai (A,B,C,D,E,F)
1 ST § 3TN Bl g4 1 AW 60% T8 01 GhM H YA KT & | Y Aferd, A, B, C, D, E
3R F 6 g9 | a firerd & | = & 718 Tfetent 31em g B8 37T - 3TerT SAferal Sl o T g4
61 et Torshl ol SIfereTa < &9 1 S 8 3R 98 ©8 Al H § Teish g1 4 g § I e
g Tt ShT gt ohi oft guItedt & |

Q. 96-100 : Study the following table chart carefully and answer the questions given below :

Akshay has 5000 litres of pure milk. He sells 40% of the total milk to six different
persons (A, B, C, D, E, F) and the remaining 60% of total milk he utilizes in his own shop.
Each person, A, B, C, D, E and F mixes water in pure milk. The table given below shows the
sales of milk to six different persons by Akshay as a percentage of total sales and it also
shows the concentration of water after adding water in pure milk by each of the six persons.

=/ | qa e | Ol B EigE (YE g
Person fersh / Wﬁﬁﬁ?’rﬁ%aﬁ) / The
Sales of | concentration of water
Milk (After adding water in
pure milk)

A 20% 20%

B 10% 10%

C 10% 15%

D 10% 18%

E 30% 25%

F 20% 12%

96. =afeRd A 3N saferd C g ForelTe 7T Ut shY e WIS o o=l o1 ST g 7 (SHTH)
65 HIX

What is the difference between the total quantity of water added by Person A and that of Person
C ? (approximately)
65 litres

97. =fed C grr fietme T urft < et wrn 3R =l E Ry fireme e o <6t et 7 s wetd
U R ?

What is the respective ratio of the total quantity of water added by Person C and the total
quantity of water added by Person E ?
3:17

98. FrfcRad | & fore Yg g § 98 &H A § (Sftet #) ot e 2
Who among the following added least quantity (in litres) of water in pure milk ?
B
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99. HM AT, A, B 3R C 319 91t I Tk I H fierd 8 a1 ¢ o & g9 i digar @ gef ?
()

Suppose, A, B and C mix their solutions in one vessel then what would be the concentration of
milk in the new solution ? (approximately)

83.55%

100. Tft =ferat gy firetent ot feram eftet art firemem o 7 ()

How many total litres of water was added by all the persons together ? (approximately)
456
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